
 

 

Addition of Two Number 

 

Rahul has 26 chocolates, his mother gave him 10 more chocolates. How many 

total chocolates did Rahul have now? 

Write the numbers one below the other according to place value. 

Then add. 

Step 1: First add the ones.   Step 2: Then add the tens. 

 

 

 

Answer: Rahul have 36 chocolates. 

 

Consider another example. Let’s add 55 and 21. 

Step 1: First add the ones.   Step 2: Then add the tens. 

    

 

  

Hence, the answer is 76.  
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 2 6 

+ 1 0 

  6 

 T O 
 2 6 

+ 1 0 

 3 6 

 T O 
 5 5 

+ 2 1 

 7 6 
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 5 5 

+ 2 1 

  6 




